18.The statement that, “It is not from the benevolence of the butcher, the brewer, or the baker that we expect our dinner, but from their regard to their own interests”, is morally wrong in several ways. To begin with the statement does not show a clear examination of the key reason as to why the key the butcher, the brewer and the baker carries his activity. The statement indicates that the profit is the key motive to which the three people carry their chaos, which is wrong. The matter of the fact is that the three people must initially have indentified the needs of the society and out of willingness each voluntarily, chose the product of his choice in which one has interest to serve the society in. 

In trying to satisfy the needs of the society, with the freedom to choose, one person decided to serve people by providing meat; the area he is best suited in thus in it he feel he stand a better position to serve humanity. The same applies to the baker and the brewer in provision of their products to people.
The statement too becomes morally wrong by not recognizing the importance of the sequence of the activities of a free enterprise but from the bases of a poorly grounded socialistic view giving preference to the less important and even negotiable activity, “costing”; the amount paid for the product. The benevolence of the butcher, the baker and the brewer is justified by their series of activities. These activities include, carrying out the market research to indentify the societal needs with an aim of trying to find a solution to satisfy them. The second activity that these three people do is research and examining all possible means of creating the most appropriate products to satisfy the people’s needs in the dinner. In this case the butcher’s urge to slaughter is guided by the society’s need for meat for dinner; if the butcher provides a type of meat contrary to the people’s interest and taste, he would not serve it hence his activity becomes null and void. A good example is that a butcher cannot provide pork in a Muslim society due to the fact that the Muslims do not consume pork i.e. the absence of the need of the pork eliminates the butcher’s activities.
Indentifying the societal need and creation of products, so believed by the producer to be the ultimate satisfier of peoples needs, is basically producer’s perspective. This means that the producer is the initiator; he may identify the wrong societal need hence create a product to satisfy the need that already does not exist. He may also identify the correct societal needs but fail to produce the correct product to satisfy that need. In either of the two cases he ends up suffering uninsured loses. This uninsured loses occur due to the fact that the produces does not hold any contract with the consumer. The initial absence of contract justifies the benevolence of the three people in provision of dinner. 
The other activities in a free enterprise is the advertisement of the product by the producer; this is where the producer provides the information on the existence and, how best the product can satisfy the needs of a certain group of people referred by the user as his market. I refer this as the interaction stage i.e. the producer, the product and the potential consumers of the product. In this case the butcher, baker and the brewer are the producers; the meat, bread and the wine are the products, and, people who want to dine are the potential consumers. At this level the producer accesses the viability of the product in the market.
Once the society builds trust and confidence that the product can satisfy their need well, it engages in an advanced interaction with the producer over the sales transaction. This is the most critical level of entrepreneurship; it is the activity at which the unrealistic socialistic minded people criticize the whole process of free enterprise.  Although in the long run due to the specialization the producer may enjoy efficiency and economies of scale which enable him produce so many units to satisfy the needs of many people and ends up making huge profits in which the government gets more revenue. What the statement has not considered is that cost of a single unit of a product to satisfy people during dinner is so small compared to the cost of the whole process of the product of people. The inability to conceptualize this, the statement thus holds that it is due to the regard of the butcher, the baker and the brewer’s interest (the urge to make profit) that they expect their dinner which is wrong.
When the statement is applied in the real world the statement still remains morally wrong many free enterprises take for example a pharmaceutical company, thousands of hours of hard labor is spent in the laboratories, tens of millions of dollars is spent in search of a cure for certain disease which is a threat to the health of the society. The cost of a single dose to cure the disease hence satisfying the societal health need cannot be compared to the cost of the creation. The huge profit made by the company comes from the need of producer to satisfy the needs of a bigger number of people. The recovery of the whole cost of production process of the cure and the profit is only distributed through the cost of the cure. Good health is a basic need to all human being and has no monetary value thus irrespective of the cost of the cure, one cannot forego it. Despite the great profit these companies make, their benevolence to the society cannot be overrode by the need to make profit; the former remains the ultimate for the company’s objective.  
Another situation that defies the moral applicability of the statement is that the increase of the food security as a result of application of modern technology is by far much of value compared with the its cost particularly in consideration of consequences of food insecurity. Despite relatively high cost compared to the level of economy of the Third World countries, the provision of these technologies means a lot to the survival of hundreds of millions of people who faces shortage of food. Though the high cost, the benevolence weighs more.   
The statement, by meaning shows that the benevolence of the butcher, the baker and the brewer can be realized once they offer their products for free. Suppose this was to be put into reality; what would be the consequence? The people at the dinner would feel happy due to the benevolence of the dinner providers. On the other hand the dinner providers would go home empty handed each having consumed his resources in preparing meat, bread or wine to be consumed for dinner. The fact is that they would not only lack resources to continue further preparation for the following dinners but would also lack the spirit and interest to do it. The resultant effect is that no more dinners would be expected; the people need for the dinner would remain unsolved; continued dinner failure would result to poor health to the people hence low productivity. The initial benevolence of the butcher, the baker and the brewer would not be recognized thus both the dinner providers and the consumers would loose i.e. double losses.
In a nutshell the cost charged for a product is both part of its production and motivation to the producer both without which a sustained production cannot occur. If Bill Gates gave his initial software for free, he would not have resources, and would have nothing to motivate him to invent more advanced softwares and eventually would not have contributed to change how the world works. 
Due to uneven distribution of economic resources, either directly or indirectly these resources become tradable. The cost charged for the products stimulates either direct or indirect economic activities; in this case the benevolence of the butcher, the baker and the brewer is manifested through stimulation of activities of animal farmer, wheat farmer and barley farmer for meat, bread and wine consecutively. Other hand the since the people in the dinner must pay for the meat, bread and wine, they must have carried economic activities and earned; what they would exchange with for dinner. Once the process is repeated there occurs increased economic stimulation in the society; this too is a form of benevolence hence the statement that “it is not from the benevolence of the butcher, the baker or the brewer that we expect our dinner but it is from their regard to their own interest” is morally wrong.
